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I1. Cac yéu cau caa dé thi nhim dap wng CLO
(Phan nay phdi phdi hop véi thdng tin tir dé ciong chi tiét cua hoc phan)

Trong sé

Lay dir
<y Hinh | o0 | ligudo
hiéu Ni dung CLO thic | yspn | Cauhei | Piémso | lwong
danh A thi so toi da mirc
CLO . phan
98 | ganh gia dat
(%) PLO/PI
) (2) 3) (4) 5) (6) )
0.4d/cau
P , ; R ton
Ap dung kién thuc dy Trac 2504 Cau 1,2,3, d(iémg8
CLOj | béo. du toan, tham dinh Nghiém 4,5,6,7,8 cau I o131
de lap ke hoach cho to 3.2d) '
chuec. '
Caul.l
' lua 0
Tu luan 15% Cau 1.2 1.54
Ly giai cac bién dong vé A 0.4d/cau
chi phi, doanh thu, cac chi | 4. Cau (tong
tiéu do luong hiéu qua - 10% 9,10,11 diém 3
CLO2 phuc vu cho kiém soat va Nghiem cau la PI13.2
danh gia hiéu qua hoat 1.2d)
dong cuacacbophan. | Tyjuan | 15% | Cau2.1l | 0.5d
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Cau 2.2 0.5d
Thuc hién 1ap ngén sach 0.4d/cau
mot cach doc 1ap cho Tric Cau (téng
doanh nghiép khéac nhau a 15% 121314 | diém 4
CLO3 Nghiém ’ e claeu . | P18l
1.6d)
Tu luan 15% Cau 3 1d
Van dung tu duy phan
bién vao tu van ra quyét o 0 .
CLO4 dinh kinh doanh cho Tu luan 5% Cau 1.3 0.5d Pl4.1
doanh nghiép.

I11. Ngi dung cau hei thi

PHAN TRAC NGHIEM (15 cau — 6 diém- 0.4d/ciu)

Caul

In calculating the regression equation linking two variables Y=bX+a, the standard formulae
for the regression coefficients are given in terms of X and Y. Which of the following is true?
A.Y must be the dependent variable

B. It does not matter which variable is which

C. X must be the variable which will be forecast

D. Y must be the variable shown on the vertical axis of a scatter diagram

ANSWER: A

Cau 2
Which of the following is a feasible value for the correlation coefficient?

1. -0.25

2. 0

3. -2

4. +1.07
A.1land 2 only
B. 1 and 3 only
C. 2and 4 only
D.1,2,3and 4
ANSWER: A

Céu 3:

Five years ago material M cost $8 per kg and the price index most appropriate to the cost of
material M was 120. The same index now stands at 300.

What is the best estimate of the current cost of material M per kg?

A. $20

B. $3.2

C.$25

D. $25

ANSWER: A

Cau 4:
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A company's annual profits have a trend line given by Y(T) = 25t — 8, where Y is the trend
in $'000 and t is the year with t = 0 in 20X0. What are the forecast profits for the year 20X7
using an additive model if the cyclical component for that year is —12?

A. $155,000

B. $167,000

C. $179,000

D. $163,000

ANSWER: A

Cau 5:

Which of the following would be part of the capital expenditure budget?
A. Cost of expanding the factory

B. Maintenance cost of old machineries

C. Purchase of goods for sale

D. Pay wages for worker

ANSWER: A

Céu 6:
ABC Co manufactures a single product and an extract from their flexed budget for
production costs is as follows.

Activity level
80% 90%
$ $
Direct material 3,600 4,050
Labour 3,180 3,240

Production overhead 6,090 6,120
12,870 13,410

What would the total production cost allowance be in a budget flexed at the 85% level of
activity? (to the nearest $)
A. $13,140
B. $13,950
C. $13,000
D. $13,400
ANSWER: A

Cau7

A sum of money was invested for 8 years at 9% per annum and is now worth $2,600. What
was the original amount invested (to the nearest $)?

A. $1,305

B. $1,503

C. $1,330

D. $5,180

ANSWER: A

Cau 8

An $10,000 investment is required for a project which has the expected returns of $3,000 in
years 1 and 2 and $4,000 in years 3 and 4. Given that the NPV= $30 at 8% and the NPV= -
$6 at 10%, what is the IRR for the project?
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A.9.67%

B. 9.87%

C. 10.50%
D. 23%
ANSWER: A

Céau9

Blue Company has a material standard of 0.8kg per unit of output. The standard price of
material is $6 per kg. During June, Blue Company paid $35,750 to purchase 5,500kg, of
which they used 4,500kg to produce 6,000 units.

What is the direct material price variance for the company in June?

A. $2,750 Adverse

B. $2,750 Favourable

C. $2,250 Favourable

D. $2,250 Adverse

ANSWER: A

Céu 10

Blue Company has a material standard of 0.8kg per unit of output. The standard price of
material is $6 per kg. During June, Blue Company paid $35,750 to purchase 5,500kg, of
which they used 4,500kg to produce 6,000 units.

What is the direct material usage variance for the company in June?

A. $1,800 Favourable

B. $1,800 Adverse

C. $4,200 Favourable

D. $4,200 Adverse

ANSWER: A

Cau 11

Which of the following would cause an favourable direct material usage variance
M Employees were well trained
(i)  The use of higher quality material
(iii)  The supplier decreased the cost of main material

A. (i) and (ii) only

B. (i) and (iii) only

C. (i) and (iii) only

D. All of them

ANSWER: A

Céau 12

Which of the following is NOT a master budget?
A. Selling and administration budget

B. Cash budget

C. The budgeted statement of financial position
D. The budgeted statement of profit or loss
ANSWER: A

Cau 13
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The following details have been extracted from the receivables collection records of A Co.
Invoices paid in the month after sale 40%
Invoices paid in the second month after sale  50%
Invoices paid in the third month after sale 8%
Bad debts 2%
Invoices are issued on the last day of each month.
Customers paying in the month after sale are entitled to deduct a 3% settlement discount.
Credit sales values for June to September are budgeted as follows.
June July August  September
$40,000 $60,000 $80,000 $50,000
What is the amount budgeted to be received from credit sales in September?
A. $64,240
B. $64,200
C. $65,200
D. $56,000
ANSWER: A

Cau 14

A company has budgeted to make and sell 6,000 units of product X during the period.
The standard fixed overhead cost per unit is $5.

During the period covered by the budget, the actual results were as follows.
Production and sales 5,000 units

Fixed overhead incurred $23,000

What are the fixed overhead Expenditure variance for the period?

A. 7,000 Adverse

B. 7,000 Favourable

C. 2,000 Adverse

D. 2,000 Favourable

ANSWER: A

Cau 15

A company has budgeted to make and sell 6,000 units of product X during the period.
The standard fixed overhead cost per unit is $5.

During the period covered by the budget, the actual results were as follows.
Production and sales 5,000 units

Fixed overhead incurred $23,000

What are the fixed overhead VVolume variance for the period?

A. 5,000 Adverse

B. 5,000 Favourable

C. 2,400 Adverse

D. 2,400 Favourable

ANSWER: A
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PHAN TU LUAN (3 cau- 4 diém)

Cau héi 1: (2 diém)
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Company Beta is considering investing in one of two projects. Both projects require an

initial investment of $450,000. Cash inflows accrue evenly throughout the year.

Project A Project B

Year Cash inflow  Year Cash inflow
$ $

1 300,000 1 100,000

2 250,000 2 300,000

3 50,000 3 400,000

The company's cost of capital is 10%.

Required:

1. Calculate the NPV of the project A and B (0.75d)

2. Calculate the discounted payback period of Project A and B (0.75d)
3. Which project should we invest in if the company does not need to recover capital

quickly?(0.54)

Cau héi 2: (1 diém)

Honey Company has a material standard of 1.2kg per unit of output. The standard price of
material is $15 per kg. During July, Honey Company paid $40,000 to purchase 2,500kg,
of which they used 2,200kg to produce 2,000 units.

Required:

1. What is the direct material price variance for the company in July? (0.5d)
2. What is the direct material usage variance for the company in July? (0.5d)

Cau héi 3: (1 diém)

A company plans to sell 32,000 units of product X next year. Opening inventory of X is
expected to be 3,000 units and Company plans to increase inventory by 15 per cent by the

end of the year.

How many units of product X should be produced next year?

PAP AN PHAN TU LUAN VA THANG PIEM

Pha Néi dung dap an Than | Gh
n g i
cau diém | chd

hoi
I. Trac nghiém 6.0
Cau 0.4d/
1- cau
15

Il Tw luan 4.0
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1.1

0.75d
1 The NPV of the project A
Year Qash Discount factor Present
inflow (10%) value
$
1 -450,000 1 -450,000
1 300,000 0.909 272,700
2 250,000 0.826 206,500
3 50,000 0.751 37,550
NPV 66,750
0.125d 0.125d 0.125d
The NPV of the project B
Year _Cash Discount factor Present
inflow (10%) value
$
1 -450,000 1 -450,000
1 100,000 0.909 90,900
2 300,000 0.826 247,800
3 400,000 0.751 300,400
NPV 189,100
0.125d 0.125d 0.125d
1.2 0.75d
Year pash Discount factor Present Cummulative
inflow (10%) value cash flow
$
1 -450,000 1 -450,000
1 300,000 0.909 272,700 -177,300
2 250,000 0.826 206,500 29,200
3 50,000 0.751 37,550 66,750
0.25d
The discounted payback period of Project A is Between 1 and 2 years
0.125d
Year _Cash Discount Present Cummulative
inflow factor (10%)  value cash flow
$
1 -450,000 1 -450,000
1 100,000 0.909 90,900 -359,100
2 300,000 0.826 247,800 -111,300
3 400,000 0.751 300,400 189,100
0.25d
The discounted payback period of Project A is Between 2 and 3years
0.125d
1.3 We should invest in project B if the business does not need to recover 0.5d
capital quickly. Because project B takes a long time to recover capital but
has a larger NPV than project A
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Céu | 2.1 The direct material price variance for the company in June 0.75d
2 =(P1-P0)*Q1purchase =(40000/2500-15)*2,500=2,500(A)

2.2 The direct material usage variance for the company in June 0.75d

= (Qlusage-Q0)*P0 = (2,200- 1.2*2000)*15=-3,000 (F)
Cau | Production units = Sales units + Closing inventories —Opening inventories 1d
3 (0.5d)

=32,000-3,000+3,000*1.15=32,450 units(0.5d)

Piém téng | 10.0

TP. Hé Chi Minh, ngay 06 thang 11 ndm 2024

Ngudi duyét dé Giang vién ra dé

TS. Lé Phan Thanh Hoa Th.s Lé Nhu Hoa
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